cpS (1) Exom., RO

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : BLS-S-FDE Test Booklet Series

L

" TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.
This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See dlrecnons

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, one-third (0.33) of the marks assigned to that question will be
deducted as penalty.

(1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

&I § : TS 1 R TR 39 gfere * fed v waw § |

BLS-S-FDE (1-A)



1. Whatis 0064x 625 equal to ? 5.  What is the square root of
0:081x4-84 .
(0-35)* + 070+ 1

199
i 12 595 +0197
59 (a) 1
(b) % - ® 2
© 9 ) 3
AN A
(d 99 EEL

2. (x +4) is a factor of which one of the following|6-  What is the number of digits in 240 ?

expressions ? (Given that log,, 2 = 0-301)
(8) x°-Tx+44 (a) 14 |

(b) =x%+Tx-44 ®) 13

(€ x°-Tx-44 © 12

@ x%+Tx+44 @ 11

3. If o and B are the roots of the quadratic

equation 2x? +6x + k= 0, where k < 0, then 7. If one root of

2 2 - =
what is the maximum value of E+-E ? (a®~8a+ ="+ @n-1)x+2=0
a . is twice the other, then what is the value
1 (&) 2 of‘a’?
() -2 @ 2
3
() 9
@) -
@ -9 | -
4.  Consider the following statements : | (c) %
1. If a=bec with HCF (b, ¢) = 1, then i
HCF (¢, bd) = HCF (¢, d). a - 5
2. If a=Dbec with HCF (b, ¢) = 1, then

LCM (a, d) = LCM (c, bd). '
8. What is the remainder when the number

. f h . ?
Which of the above statements is/are correct (4444Y444 i divided by 9 ?

(a). - 1only

(a) 4
(b) 2only . b) 6
(¢) Both1land?2 © 17
(d) Neither 1 nor 2 (d 8
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0:064 x 6:25 .%Ha; 0
\} 0081 x 4-84 E
10
99
100
99
(c) 9
(d 99

(a)

(b)

(x + 4), Fr=fofea =iompt & @ foree orEs
77

(a) x°—Tx+44

(b) X2+ Tx—44

€ x°-Tx-44

d) X%+ Tx+44

qfe o 3R p Tguma afiemor 2x2 + 6x + k = 0, SI&
k<0%, % ua &, ar %*% 1 3ifeay o=

R ?

(a) 2
b) -2

e 9

@a -9

Frafafa oAt w fimm Hifve -

1. 3R a=be d HCF (b,¢) =1, A
HCF (c, bd) = HCF (c, d).

9. 9Ife a=be ¥ HCF (b,c) =1, A
LCM (a, d) = LCM (c, bd).

ITYH HUA W ° DAV TE 2/ ?
(a) had 1

(b) FHIA 2

(¢) 13K 28l

@ Jda 1,782

(3-A)

352 + 0
035 +070+1 | 19 = aioge fered wTaR

2:95
29
(a) 1
®) 2
(c) 3
d 4
2403 37ept Y wE fopat R 2
(fem mam & £ log, 2 = 0-301)
(a) 14
(b) 13
(¢) 12
@ 11

Ife Gt (a2 - 5a+3)x2+ (Ba-1)x+2=0

1 T A G 0 1 QAT 8, T ‘2’ 1 A w0
27

(a) %
®» -2
() %
@ - %

o G (4444)*** =) 9 § i fopam strar

B, d el T AT B ?
(a) 4
b) 6
() 7
(d 8




5. I X=,}a+b—,}a—b

12. If A:B =3 : 4, then what is the value of the

, then what is

Ja+tb+ a-b . [3A2+4B}
expression | ———— ?
bx?—2ax+b equal to (b= 0)? 3A - 4B
43
(a) 0 (a) 5_5'
43
B e
(bh) 1 (b) EE
47
(¢) ab (c) =
(d) 2ab (d) Cannot be determined

18. If A = {x:xis a multiple of 7},
B = {x : x is a multiple of 5} and
C = {x : x is a multiple of 35},

(443 + 5472 + (4435472 then which one of the following is a null set ?
443% 443+ 547 x 54T @ ((A-B)UC

10, What is the value of

(a) 0 (b) (A-B)-C

© (ANBNC
(o) 1 @ ((ANB)-C
© 2

14, If x=2+2234 21/3, then what is the value of
x5 — 632 + 6% ?

(D 3

(a) 8

(b) 2
‘ 1 =8 © 1

11. I x=t'""1and y=t'""1,t>0,t=1, then
what is the relation between x and y ? @ o
15. If |[2=2%4, ¥ and x+y=26, then what

(a) y*=xW . ;*5+;anxy—, en w

is the value of xy ?
(b) x1)’],7 - ylfx

(a) 5
© =y | ®& 15

() 25
(d) Xy = ylfx (d) 30
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9. 3R xz,fa+b—-,/ -b a

\/a+b +Ja—b ,
bx2— 2ax + b ToFES ST B (b= 0) ?

(a) O
b)) 1
(c) ab

(d) 2ab

(443 + 5472 + (443 — 547)2
443 x 443+ 547 x 547

10,

(a) O

(b) 1

(c) 2

d 3

1 ; t
11. IR x=tt"1 a3 y=tt-1 ¢t>0,t=1, @

x 3N y & T T &Y B ?
(a) y*=x

b) xWy =yl

© x=y*

@) Ty

BLS-S-FDE

T HE T8 ?

13.

14.

15.

(5-A)

12,

. 2
If¢ A:B=3:4,dl sk S'A—*'f 1 HH
3A — 4B

TR ?
43
55
_43
55
47
55
(@) s 9 S weRar

(a)
(b)

(e)

A A = {x: x, 7 TH U 8),
B = {x : x, 5 T Teh T 2} 3R
C = {x : x, 35 %1 Th N B),
at fr=fafas & & wF-a1 g gg=a 8 2
(a (A-B)UuC
(b) (A-B)-C
¢ ANBNC
@ ((ANB-C

'*‘lﬁ x=2+22’3+2y3, ar x3—6x2+6x'EFf
HH TR 2

(a) 3
(b) 2
() 1
d o

afg F=%+J§ 3ﬂTx+y=26,?‘h Xy <hl
y X

HHE T & ?

(a) b

(b) 15
() 25
(d 30



16. What is the solution of the equation 20. The pair of linear equations kx + 3y + 1 =0

2 =0 int i
xlog; (1_3[1} +logyy 3 = logy (2439 +x2 and 2x +y + 3 =0 intersect each other, if

(a) k=6
@ 10 b k=6
(b) 3 © k=0
() 1 (d k=0
d o .
21. The number of prime numbers v "1 are less
than 100 is
17. If o and B are the roots of the equation ta) 24
x2 + px + q = 0, then what is o + B2 equal to ? (d) 25
(a) pZ - 2q (c) 26
9 d 27
(b) q“-2p
() p2+2q 22. The cost of a diamond varies directly as the
square of its weight. A diamond broke into
@ q?-q four pieces with their weights in the ratio of

1:2:3: 4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond ?
(a) ¥ 1,00,000
(b) ¥ 1,40,000

18. If a3=335+b% and a=5+b, then whatis
the value of a + b (given that a>0and b > 0) ?

@ 7

(¢) ¥ 1,50,000
o @ @ ¥ 1,75,000
() 16 3
. = o I
@ 49 23. In a 100 m race, A runs at a speed of 3 m/s

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B ?

19. If 9% 3Y = 2187 and 2%% 2% — 4% = 0, then 5

what can be the value of (x + y) ? (a) < mfs
(@) 1 i % -~
(b) 3 j

() 5 (c) 3 m/s
a 7 ” % i

BLS-8-FDE (6-A)




16.

17.

18.

19.

BLS-S-FDE

e

x log;, (—1:32) +log;, 3 = log_10 2+35+x

I T FTR ?
(a) 10

b 3

e 1

(d)

ﬂﬁaaﬂ'{ﬁ,mx2+px+q=0a3w§,
a2+[32%‘5|%w%?

(a) p%-2q
® o®-2p
(e) p2 +2q

(d q®-q

i a®=335+b° 3 a=5+b,d a+ b

g (e a>03Mb>0)?
@ 7 ‘

(b) 9

() 16

d) 49

gfe 9¥3v=2187 3R 2% ¥ _4¥_0, @
(x +y) 3T A F1 & FHaAT @ ?

(a)
(b)
(e)
(d)

] T W =

20. T iah T kx+ 3y +1=0 3R

21.

22.

23.

{T~1H)

2% + y + 8 = 0 TH-GER ! Jfi=ag Hd &,
pid

(a) k=6
b k=6
¢ k=0
d k=#0

100 ¥ BT 39T &A1 (prime numbers) i
&

(a) 24
(b) 25
() 26
d 27

B HT YT 3T O P o & IJEY Todwl
gRafdd gia1 8 | T B8R =R 9FT § g2 T SR
w%mwmlzz:3:4%|aﬁ‘aﬂi
% HA qed H T 70,000 FT THAH g &, A
ER 1 IRAS go o1 o1 2

(a) ¥ 1,00,000
(b) ¥ 1,40,000
(¢) ¥ 1,50,000
(d) < 1,75,000

100mﬁ@ﬁ3ﬁ,A,§mfsEﬁnﬁrﬂasm

213k A gor # B, 4 m I3 (&7 H
AR) A PsaT Y& Har g M O ft A 39

12 ¥UE | T <1 B, O B I TR T R 2
(a) gmfs
® 3 ms
(c) g’-mfs
@ 2 s



24.

250

26'

BLS-S-FDE

If 16 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?

(a) 18

(b) 20

() 25

(d 30

What number must be subtracted from both
the numerator and the denominator of the

fraction E so that it becomes E ?
35 3

(a) 6

(b) 8

A sum of ¥ 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded
annually, then the value of each instalment
is

(a) 4,200

(b) ¥ 4,480
() T4,840

(d) None of the above

217.

28.

29.

(8-A)

Leela got married 6 years ago. Today her age

is I%times her age at the time of her

marriage. Her son’s age is l—lotimes her age.

What is the present age of her son ?

(a) 1year

(b) 2 years
() 3years
(d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days. In how many days can A alone finish
the work ?

(a) 18days
(b) 20 days
(¢) 24days
(d) 25days

The values of x which satisfy the equation
51+% 4+ 51~% =26 are

@ -11
() 0,1
) 1,2
d -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women is

(a) 7% days

(b) 8days
(c) 9 % days
(d 12 days



24. A 8w Wfdfe I g 15 AGH TH HW

25'

26.

BLS-S-FDE

H FA A 21 fe o €, A It HW B 6 HS
gfafed i gL 21 G fhae fm & @ =
quirft, Ife 3 3id, 2 ARl % FW F T
FH HLal & ?

(a) 18
(b) 20
() 25

(d) 30
iy % % 3 IR W gHl § § HA-dt g
‘azréﬁmz,m%aagﬁrm? \

(a) 6

b 8

@ 9

d 11

T 8,400 ! Teh YT YR WAt 716 B | 38
SR ol | g ST R | AR =gty

H1 G 10% 9fd a9 & N a1 &9 & g ST
2, ATSS TR AR T2 2

(a) ¥ 4,200

(b) ¥ 4,480

() T 4,840

(d) 394w 3 9 BB T

27, <fien 1 faarE 6 o @ g A1 | I IEH

28.

29.

30.

(9-A)

(@

Y, 3G faag & wa H 7Y H 1%?&

%lmyﬁa@,wﬁmﬂaﬁ%rﬁr%l
3G g hl TA9H 3ATg TR ?

(a) 199

(b) 299

(c) 3o

d 499

A 3R B T 919 9 T Tk ®1 # 12 e F
TS R Hehd @, JEih B A 39 SR
30 feT o o TehaT @ | 37kl W HA YL AW
% & fohed R 4 g W T @ 2

(@ 18fH
® 20 fm
(¢ 24 f=
@. 25 f&=

aefierter 51 % 4 517X = 96 I TgR A T

x%'ﬂﬁiﬁh-ﬁ%?

(a -1,1

(b) 0,1

0 1,2

~1,i6

afe 5 et wH HR w10 9 T W g §
3T 12 3G 3t R A 15 o § o endt €,

@ 5 et 3t 6 3fitd 3t i e fom
QT HAT ?

7ifm

2

8 e
(e) 91%

2

12 &=

(a)

(b)

(d)



31.

32,

33.

34.

BLS-S-FDE

A passenger train departs from Delhi at 6 p.m.
for Mumbai. At 9 p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given
that the distance between the cities is
1080 km ?

(a)
(b)
(c)
(d)

4 p.m.
2 a.m.
12 midnight

6 a.m.

In a class of 49 students, the ratio of girls to
boys is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be

(a) 11:7
(b) 8:7
() 6:5
(d 9:8

If a+b=5 and ab = 6, then what is the
value of a3+ b ? )

(a) 385
(b) 40
(¢) 90
(d) 125

Rajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
¥ 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300
(b)
(c)
(d)

¥ 6,400
T 6,500
T 6,600

35.

36.

37.

38.

(10-A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to
cross a man running at 3 km/hour in the same
direction ?

(a) 40 seconds
(b) 30 seconds
(¢) 25 seconds
(d) 15 seconds

%ich one among the following is the largest ?

(a) "9‘

11

14

3
(c) Z‘

10
13

(b)

(d)

The difference between the simple and the
compound interest on a certain sum of money
at 4% per annum in 2 years is ¥ 10. What is

the sum ?

(a) ¥ 5,000
(b ¥ 6,000
(¢) ¥ 6,250
d T 17,500

If a% of a + b% of b = 2% of ab, then what
percent of aisb ?

(a) 50%

(b) T5%

(e) 100%

(d) Cannot be determined



Waﬂ'lﬂiﬁ"ﬂ'{-ﬁ 6p.m.ﬂﬁ§3’°fﬂ§ﬁ'§%%ﬁ

- | 36.

31.
TEYH wE B | T @EdE {omer, ekt
sitea i W M ¥ 15 knyH A R,
9p.m.‘¥'{gﬁ'§%ﬁfﬁ%maﬁ?ﬂ%|ﬁ
termteal wegant # whgEt ¥ freeh ) A
Yermfeat fore gwa fiettf, afg gl wedl & =
#H1 gt 1080 km B ?
(a) 4pm.
(b) 2am.
(¢) 12 We Ity
(d) 6 am.

32. 49 faenfRai <At wsk e #, wisfral 9 ds®i H
I 4 : 3% | G 4 SRRt wam B8 <t 7,
q iRl o Tl 1 AU FAT EI 2
(a) 11:7
(b) 8:7
(c) 6:5
(d 9:8

33. IR a+b=53N ab=6,dl a°+b® & TA wN
?27?
(a) 35
(b) 40
(¢) 90
@ 125

34, Toig 3 foshg o9 W 25% [T H WY Th
e wie | aft 3 HieEa T 4,875 ®
wliar, A WeTEe ST IREES sk gea | e ?
(a) 6,300
(b) T 6,400
(¢) ¥ 6,500
(d T 6,600

BLS-S-FDE

35.

37.

38.

(11-A)

295 m S TH LS 30 km/EeT Y T @
I @ ? | 98 U e} @, S 3 km/EiReT
T & Yot % =e & feun # < @ §, 9N

+E § e ama ot 2
(a) 40 THTE
(b) 30 THTS
(c) 25THTE
(d) 15 9HTE
Fr=fafaa § € wi9-or Ted w91 R ?
(a) %
11
(b) 12
3
(c} Z
10
(d) -

wH YAURT W 4% ufq o§ Hi X A 299 o, W
g Tshgfg ST H AT T 10 & | U w0
87

(a) ¥ 5,000
(b) ¥ 6,000
() ¥6,250
(d) <17,500

Ife a T a% + b T b% = ab FT 2% 8, TN a
fram ufe@ b8 2

(a) 50%

(b) 75%

(¢) 100%

(@) erel &l S HHal



5 th

39. 5 part of the population in a village are
males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

' 2
20—

(a) 5
b 272
9

7

() 27—
9

2

d 29—
(d) 9

40. Sunil wants to spend ¥ 200 on two types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?

(a) 25
(b) 26
() 27
(d) 28

41. What is the LCM of %%+ 8, x%+ 5x +6 and

x3 +4x2 + 4% ?
(@) xE+2)°x+3)(x2-2x+4)
B xx-2)%x-3)x2+2x+4)
© x+22(x+3)x2-2x+4)
@ x-22x-3)x%2-2x+4)

42, The HCF of two expressions p and q is 1. What
is the reciprocal of their LCM ?
(@ p+gq
(b) p-q
() pq
@ (pg)~?!

BLS-S-FDE

45.

(12—-A)

(b)

# 12
What is the value of 34— ?
at is the value o 155

3

12

(a) =
2

b 1=
(b) =
(e) 12
5

2

d 2—
(d) 5

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(a) 200m
(b) 300 m
() 400m
(d 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -8
6, 1

(¢ 4,3

(d -6, -1



39.

40.

T T FH T H g 9T gey § | afg
30% o9 fyarfem %, @ Fa@ SH@ewn #
srferanteq afenatt = gl fohaar 8 2
(a) 20%
2
(b) 275
.
(c) 27§
2
(d) 29§

giie T 200 @ YR hi fHemdi | @9 &
wgaT 8, e g M T 7 9 T 10 7 |
firoTsal <t 98 Afewan gew =1 7, ™ o W
IS TIIT AT T 7 2

(a) 25
(b) 26
(e 27
@ 28
41. 13+8, x> + 5x + 6 3R x> 4+ 4x% + 4x I
LCM &1 8 ?
(a) x(x+22(x+3)x%-2x+4)
b) xx-2)2x-3)(x%+2x+4)
© x+2°%(x+3)x2-2x+4)
@ x-2°2x-3)x%2-2x+4)
42. @ =S| p 3N qH1 HCF, 18 | 3% LCM &I
SIH T § 2
(a) p+q
(b) p-gq
() pq
@ (pg~?
BLS-S-FDE

43.

45.

(13-A)

3411% T T TR 2
(a) 1%
(b) 1%
(e 1%
@ 2%

o Rt 7 o IR 100 m F gl F e
fopen | o Tt 3 diet S g &, ot 9
ot yre @ | 3 SR R R 8 kaveer B SR
foamdt &1 7fd 10 kn/eleT 2, T TS I A UEA

AR =l foreft gL T 86 2
(a) 200m
(b) 300m
() 400m
(d) 500m

I 3 oTes 4 U fgu wHiewn wl s
HW B A Brar | e A Fga 9e foed w9y
Tt SR qE (4, 3) TR | a1l | x
=1 Ui forEd T TTedt R d 3 E (3, 2)
el | wieRter % T 4o §

(a)
(b)
(e)

(d)



46. Consider the following statements :
1.  Oftwo consecutive integers, one is even.
2.  Square of an odd integer is of the form

8n+ 1.

Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(¢c) Both1and2
(d) Neither 1 nor 2

47. The system of equations 2x+4y=6 and
4x + 8y =8 is
(a) Consistent with a unique solution
(b) Consistent with infinitely many

solutions

(¢) Inconsistent
(d) None of the above

48. (NP '_1)isa multiple of p, if N is prime to p
andpisa
(a) Prime number
(b) Rational number
()  Real number
(d) Composite number

49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers ?
(a) 1024
(b) 1256
(e) 1536
(d) 1640

50.- 25 kg of alloy X is mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
b)) 2:3
(¢ 3:56
) 'T:1%

BLS-S-FDE

51.

52,

53.

(14-A)

The mean of 5 numbers is 15. If one more
number is included, the mean of the
6 numbers becomes 17. What is the included
number ?

(a) 24
(b) 25
() 26
d 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(a) 70
(b) 65
() 60
(d 50

Consider the following distribution :

Class Frequency
0-20 17
20 - 40 28
40 - 60 32
60 — 80 f
80— 100 19

If the mean of the above distribution is 50,
what is the value of f ?

(a) 24
(b) 34
) 56
(d 96



47.

48.

49.

50.

BLS-S-FDE

Freafafaa wudt w faam Hifv

1. 2 ShHTTd QUi A & T TH 2 |

2. U foun qurih & o7f &t 8n+ 1% ®T H
o aa £ |

W HeEl # ¥ wAEd Tl 2 2

(a) had 1

(b) A 2

1 27T o=t

(\;; L N &4 QrT

(d Tar 1,982

GefieRtoT TSI 2x + 4y = 6 3T 4x + 8y = 8
(a) TH IAfG & % Y T &

(b) IFFAd: 3 FAI & T TG &

(¢) ITEC &

(@) 3S9IE A T BIg TEl

pH TH T (NP1 - 1R, IR N, p ¥ 3T
IR PTTH
(a) YT &I

(b) uiET g

(¢) TR §EAT

(d) WS G

Sl TEATRAT T U 1:5 7 M I TUHHA
320 2 | 39 ° GEAIRA & 0 & S H FA
FTR?

(a) 1024

(b) 1256

(c) 1536

d 1640

25 kg fiseaTg X & 125 kg fsaig Y & @™
ﬁfm%mwwﬁfﬁmxﬁzﬂmaﬂiw
(F1) Y W T A 1: 27 R g vH
digr 3R T it T H A 2: 37, @R
forsror # e IR T BT SrHTE =BT 2
(a) 1:2

b) 2:3

¢ 3:5
(@ Tl

51.

52.

53.

(15-A)

5 GEATRT w1 ATE 15 & | If U 3R "
S S, 9 6 HESA! 1 ATET 17 & 9§ |
S TS HE R R ?

(a) 24
(b) 25
(c) 26
d 27

et fawg § 300 et g o fRw g
! T A 602 | I8A <L & 100 Taenfeia
% 3| 1 AGA 80 IHET /=T a1 ARGl & &
100 faenfit & a7l 1 3f=a 50 9T AT |
35 @ 100 fenfeiat & ofepi = 3iwa a2 2

(a) 70
(b) 65
(e 60
(d 50
fr=fafen seq w fomm Sifse -
7t SArgh
0-20 T
20 —-40 28
40 -60 32
60 — 80 f
80 — 100 i5

Ife 3Ugt e H WL 50 B, A £ H A F4G1
2?

(a) 24
(b) 34
() 56
(@ 96




54.

55.

56‘

57.

In a pie diagram, there are four slices with
angles 150°, 90°, 60° and 60°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In
the new pie diagram

(a) The largest slice has angle 150°

(b) The smallest slice has angle 70°

(¢) The largest slice has angle 180°

(d) The smallest slice has angle 90°

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and
220 respectively, then the mode of the data is

(a) 120
(b) 220
(¢) 280
(d) 370

Let a, b, c, d, e, f, g be consecutive even
numbers and j, k, I, m, n be consecutive odd
numbers. What is the average of all the
numbers ?

3(a+mn)
(a) T
(51 +7d)

4

(a+b+m+mn)

4
None of the above

(b)

(e)
(d)

An individual purchases three qualities of
pencils. The relevant data is given below :

Price per Money

Quality

58.

59.

Consider the following frequency distribution :

x | Frequency | Cumulative frequency
1 8 8
2 10 18
3 £ 29
4 fy 45

pencil (in T)

spent (in )

A

1-00

50

B

1-50

X

C

2-00

20

It is known that the average price per pencil is

T 1-25. What is the value of x ?

(a) T10
(b) T30
() T 40
(d) <60

BLS-S-FDE

60.

(16-A)

What are the values of f; and f, respectively ?

(a) 10and 17
(b) 17 and 10
(¢) . 11and 16
(d) 16and11

If D is the number of degrees and R is the
number of radians in an angle 6, then which
one of the following is correct ?

(a) =D =180R
(b) =D =90R
(¢) =R =180D
(d) =R=90D

What is the minimum value of

9tan? 0+ 4 cot2 0 ?

(a) 6
(b)) 9
(0 12
(d 13



54.

56.

56.

57.

T JURE (pie diagram) & R WRT & 0T
150°, 90°, 60° @ 60° & | fau T gR@ & 60°
IV A W B B FR T AT JARE SR
TR | U gERE |

(a) TEH TS 9T T BT 150° 8

(b) TEH BIE WWT T HI0T 70° 7

(c) ES® ¥ WAT T I 180° ]

(d)  HEH BIS VAT T HI0T 90° B

T TG s H, afg s F wiew 9 "ifedrn
HHW: 270 F 220 7, T HTHS HT T F91 8 ?

(a) 120

(b) 220
(¢) 280
(d) 370

wH AR a, b, ¢, d, e, f, g HATE T4 TEAN &
3 j, k, I, m, n SHATTA fosw g § | ot
G T HIET AT 8 ?

3(a+n)
(a) 5
(51 +7d)
(b) 1
© (a+b -; m+n)
@ S9gh § 8w T

s R O TR 6 e w@lca & | g9g
st A3 R o #

B {5’ ?Sg) = ?3’5
A 1-00 50
B 1-50 X
C 2:00 20

I 7a & 6 ys Uit &1 off|d g T 125
Bl xHIAAFE ?

(a) T10
(b) <30
(c) T 40
(d Ta60
BLS-S-FDE

58. ﬁw%ﬁaamémmﬁwﬁﬁﬂq:

x | SRERAT el SRERAT
1 8 8
2 10 18
3 fy 29
4 R 45

f, 3R £, % A A F1E ?

(a)
(b)
()
(d)

59. afy feeht ®or o #, D ofwTE 1 @ R YA
) we 2, @ Prafaied § @ S Geg T@

9
(a)
(b)
(e
(d),

60. 9 tan® 0 + 4 cot? 6T JNTITH HH RIT & ?

(a)
(b)
(c)
(d)

(17-A)

10 3R 17
17 3R 10
11 3R 16
16 3R 11

nD = 180R
nD = 90R
nR = 180D
R = 90D

6
9
12
13




If xsin@=ycosb= J2plent

61. , then what is
1—tan?0
472 (x2 + v2) equal to ?
(@ &2+y??
b)) &*-yH?
© &-y»3
d (2+y%?
62. If cos 0, + cos 6, + cos 6; = 3, then what is
sin 6, + sin 6, + sin 63 equal to ?
(a) O
b)) 1
(c) 2
d 3
63. What is the value of 0 which satisfies the
equation cos 0 +tanB=1 ?
(a) O°
(b) - 30°
(e) 45°
(d) 60°
64. What is the value of
. i 1
sin x + ?
Jl +c0sx 1-cosx
(a) /2
b)) 242
(¢) +2tanx
d o
BLS-S-FDE

65.

66.

67.

(18-A)

cos* A — sin? A
cos?A — sinZA

What is equal to ?

(a) cos?A—sin?A
(b) cosA-—sinA
e 1

d 2

If 7sin?x + 3 cos? x = 4, 0 <x <90° then
what is the value of tanx ?

(a)
(b)

(c)

%l‘n-l w|§1 ™ S

(d)

An aeroplane flying at a height of 300 m above
the ground passes vertically above another
plane at an instant when the angles of
elevation of the two planes from the same

point on the ground are 60° and 45°
respectively. What is the height of the lower
plane from the ground ?
(a) 1003 m

100
(b) —F&—=m

J3
(¢©0 50+/3m

(d 150(+/3+1)m



61. 21% xsinB=ycos0= w %, Gl
1—tan®0
472 (% + y%) Torae s R 2
(a) &2+y%3
(b) (x%-y?)?
) x2-y??
@ (=2+ y2)2

62. ?TE cos 6, + cos 62+cos 93=3 %,
.l sin 6, + sin 6, + sin 6, g s @ ?

(a) 0
() 1
() 2
(d 3

63. ewﬁq-mnﬁmﬁwur cos O + tan 6 = 1 %l
UG HT 8 ?
(a) 0°
(b) 30°
(¢c) 45°
@ 60° :

64. sin XJ1+;0'SX+1—;OSX &1 HH 18 ?
(@ 2
(b) 242
(c) +2tanx
d o
BLS-S-FDE

65.

66.

67.

(19-A)

- (b)

(a)  cos?A —sin? A

(b) cosA—sinA

TI'%73in2x+30032x=4,0<x<90°%,?ﬁ
tan x 3T A 997 8 ?

(a)

(c)

(d)

s sle &

TF BATS &, S Ol & 300 m HY FAE W
Ig @ B, FFeft a1 W TH g waE WA H
FEFTR FR H TORAT 8 | 39 &0 T 6l & Th
& fog & g1 59 e % IFAT BV HAM:
60° T 45° & | = ATA TS BT H G H
Serrd R 2

(a) ‘100/3m

100

(b)
B m

(© 50/3m

@@ 150(v¥3+1)m



68. Ifx=acos6+bsin®andy=asinf-bcosb,|72.
then what is x% + y2 equal to ?
(a) 2ab
(b) a+b
() a%+b?
(d) a?-b?
73.
69. From the top of a building 90 m high, the
angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree ?
() 304/3m
(b) 90-30/3m
(¢ 90+304/3m
(d 60+30V/3m
74.
70. Which one of the following triples does not
represent the sides of a triangle ?
(a) (8,4,5)
(b) (4,7,10)
() (8,6,8)
d (2,3,6)
75.
71. If the perimeter of a rectangle is 10 cm and
the area is 4 cm?, then its length is
(a) 6cm
(b) bcem
(¢) 45cm
(d 4cm
‘BLS-S-FDE (20-A

The angles of a triangle are in the ratio
2 :4: 3. The smallest angle of the triangle is .

(a) 20°
(b) 40°
() 50°
(d) 60°

A ball of radius 1 c¢m is put into a cylindrical
pipe so that it fits inside the pipe. If the length
of the pipe is 14 m, what is the surface area of
the pipe ?

(a)
(b)

2200 square cm
4400 square cm
(¢) 8800 square cm
(d) 17600 square cm

The areas of two circular fields are in the ratio
16 : 49. If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a) 4m
(b) 8m
(¢ 9m
(d 10m

Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is
a

sides

(a) Square

(b) Rectangle, but need not be a square

(c) Rhombus, but need not be a square

(d) Parallelogram, but need not be a

rhombus



68.

69.

70.

71.

BLS-S-FDE

A x=acosB+bsind 3N
y=asin@-bcos6 B, aqlx*+y® feordeh U
27 |

(a)
(b)

2ab

() a2+b?

(d) a%-p2

et 90 m F= U 3RT & ¥¥ 8 T 3¥ *
I ofR 9 & TFTHT B HAI;: 30° I 45°
2 138 & SR FAT R ?

(a) 304/3m

b)) 90-30+3m
() 90+3043m

(d 60+304/3m
frfafad 3§ @ -1 B wr B 6t e
® 7g7 euiar & 2

(a)
(b)

(3,4,5)
(4,7, 10)
() @3,6,8)

@ (@2,3,6)

Ifc Th AEE #1 IR 10 em IR SFHA

4 cm? R, A1 IHeH! IS TR ?
(a)
(b)
() 45cm
(d)

6 cm

5 cm

4 cm

72.

73.

74.

75.

(21-A)

forelt T o hIVTT T STUTT 2:4:38 | 39
Byt =1 w=d Bl Hor ]

(a)
(b)
() 50°
(d)

20°
40°

60°

fret SR 95T ® 1 em B 9l @ g
Tt T8 @ S sEH I e The B St ' 1 A
g9 Y TS 14 m B, A IISY HI TS ST
fepa 8 2

(a)
(b) 4400 ¥ cm

2200 97 em

(c) 8800 1 em

(d 17600 S cm

QU JOTHR Gl o QTG BT IIIT 16: 49 8 |
e 72 @d H 5= 14 m B, @ BR @ H
PR 2

(a) 4m
(b) 8m
(¢ 9m
(d 10m

A oftfiT ABCD T 313a 7 | 3¢ yenedi AB,
BC, CD, DA % #ea-fomg %79 P, Q, R, S &, @
wqds PQRS =T 8 ?

(a) @i

(b) 3R, foheg ot BT STTavaeh &l

(0 wEgyd, frg ot g A

(d) wHa =gy, fhrg aregys BT STavas
Ll



Let P, Q, R be the mid-points of sides AB, BC,

76.
CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is
5 <
(a) 3 square units
(b)
&F
5 3
(c) " square units
(d) 1square unit

77. If each of the dimensions of a rectangle is
increased by 200%, the area is increased by
(a) 300%

(b) 400%
(c) 600%
(d) 800%

78. Three circles each of radius 3'5 cm touch one
another. The area subtended between them
is
(a) 6 (+/83n—2) square units
(b) 6(2n1—+/3) square units
(c) % 23 —m) square units

49 - .
(d) o (/3 —m) square units
BLS-S-FDE

79.

80.

81.

(22-A)

The area of a regular hexagon of side ‘@’ is
equal to

(a) ?2 a? square units

(b) §-£ a? square units
1.3 :

(c) 5 a“ square units

(d) g a? square units

ABCDETF is a regular polygon. Two poles at C
and D are standing vertically and subtend
angles of elevation 30° and 60° at A
respectively. What is the ratio of the height of
the pole at C to that of the pole at D ?

(a) 1:1
(b) 1:243
(0 243:1
d 2:48

Two parallel chords of a circle whose diameter
is 13 c¢m are respectively 5 cm and 12 c¢cm in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(a) 55cm
(b) 5cm
() 3b5cm
(d 8cm



76.

7.

78.

BLS-S-FDE

7 e et Brgw ABC i yonisti AB, BC,
CA % weafag AW P, Q R & | afk fryw
ABC %1 &350 5 371 3I8 8, O BYS PQR 1
Sher fepae 8 2

(a) gaﬁs?ﬂé

(b) a1 gTE

5
22
() % a1t TS

@ 137 g

afe foreht srra sl S Yo it 7T W 200%
wet faar wme, @ Saee fhae wig ST 2

(a) 300%
(b)  400%
() 600%
(d 800%

Fﬂqﬁﬁ,mﬁﬁmﬁm&Scm%,
THGR B T BA d | e S Idia
&% fehaT 8 2

6 (V8n—2) o1 TH1S
6 (2n—+/3 ) a1l ST

(a)

(b)

© %(zﬁ-n)aﬁsﬂé

) %(ﬁ-n) EURC O]

79.

80.

81.

(23-A)

TH Y YIS W ded, Rl yer @ R,
forgeh s 8 2

(a) %az T 1
(b) %J CURCoE
© 3a? i g

@ ga@ EUREaE

ABCDEF U% @4 S48 | CdAT DR g @Y
A @S 8, S A W HAN: 30° AW 60° F
IR F i B F | C W wR @ h
91 3R DR @S @Y 6 S1E T U F4T
q?

(a) 1:1

(b) 1:243
© 243:1
d 2:43

% g6, 9O S@ 13 cm B, H & AR
STl it TS HHM: 5 em 3 12 em B | AR
ST SfiaT 4T % TH B a8, df 39 Sshaned
% i it gt fraft R 2

(a)
(b)
(c) 35cm
(d)

56 cm

5 cm

3 cm



82.

83.

85.

BLS-S-FDE

If the radius of a right circular cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ?

(a) p?

(b) 2p?

n

Z

p
(c) 100

P
T
p[ 5 100]

A copper wire when bent in the form of a
square encloses an area of 121 cm?. If the

(d)

same wire is bent in the form of a circle, it
encloses an area equal to

(@) 121 cm?
(b) 144 cm?
(¢c) 154 cm?
(d) 168 cm?

ABC is a triangle and D is a point on the side
BC. If BC=12cm, BD =9cm and
ZADC = / BAC, then the length of AC is
equal to

(a)
(b)
(c)
(d)

5 cm
6 cm
8 cm

9cm

If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to

(a)
(b)
(©)
(d)

One-fourth
One-third
One-fifth

One-ninth

86.

87.

88.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
What is the ratio of OA to OC equal to ?

(a) Ratio of OB to OD
(b) Ratio of BC to CD
(c) Ratio of AD to AB
(d) Ratio of AC to BD

Ice-cream, completely filled in a cylinder of
diameter 35 ¢em and height 32 cm, is to be
identical
disposable cones of diameter 4 cm and height

served by completely filling

7 em. The maximum number of persons that

can be served in this way is

(a) 950
(& 1000
(© 1050
@ 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(a) 31:25%
(b) 32:25%
(e) 3325%
(d 3425%



82,

83.

84,

85.

BLS-S-FDE

) p(z+Lj

afg T TR Wi At Sed # iy foru famm
3Eeh! Bream po og1 € S, A Wp & IMAd
forem wifomra g 2t 8 2

(a) p?

(b)

(c) P

100

gfe qfs % Th R I o % &9 Frer 9 2,
A T 121 em? &% YREg BT ® | AfE e
TR H T gd & €9 § WSl J@r @, 9l 36H
B aiteg &he fohaa & 2

(a) 121 em?
(b) 144 cm®
(¢) 154 cm?
(d) 168 cm?

ABC T Bryst @ 3R ¥ BC W % fog
D 2 IﬂﬁBC=l2cm,BD=9cm3ﬁT
Z ADC = 2 BAC®, @1 AC ! @=iTg &1 grift 2
(a)
(b)

(¢) 8em

(d)

afg foredt Mat &1 ydig S weeRt IE%
BAFA w1 Al FEEr R S 2, @ gEeh
= forat 5 st 2

(a) TH-AT

(b) Th-fargs

(¢) T I Urear e
(d) T T Tal few

5 cm

6 cm

9 cm

86.

87.

88.

(25-A)

% "9ae (fiEm) ABCD #, AB 3t CD
TR & 3R el wh-gm # forg 0 W e
81" OA 3T OC %1 3UTq fergeh s & 2

(a) OB 3R OD T JTId
(b) BC 3R CD &1 U™
(c) AD 3 AB &1 U

(d) AC 3R BD &1 9™

@W(W)WWSScmaﬂ'{ﬁ
32 cm &, S EEHH ¥ GU AU T B | TG
AEHT IYANT Fh b WEF IT GHEY
THAT H gl e wE 9}, e =
4cm3ﬂ'{§'?€ﬂ§7cm% | =afFat i a8
HAfeepan T&AT 71 7, N 30 THR EshiA
Rt 5wk 2

(a) 950

(b) 1000 -
() 1050
(d) 1100

T gd i B T T8 es Iueht uity §
15% 1 3fg g3 | 99 % &% #§ froft gy

(a) 31-25%
(b) 3225%
(c) 3325%
(d) 34:25%



89. ABCD is a rectangle. The diagonals AC and [91. In the figure given below, D is the diameter of
BD intersect at O. If AB = 32 ecm and each circle. What is the diameter of the shaded
AD = 24 ¢m, then what is OD equal to ? circle ?
(a) 22cm
() 20cm
(¢) 18cm
(d) 16cm
(@ D(V2-1)
90. A field is divided into four regions as shown in
; ; () D(2+1)
the given figure. What is the area of the field
in square metres ? © D(Z+2)
2 m 2 m d D@E-+2)
uj
1m
q,'&
4 3m 92. In the figure given below, AC is parallel to ED
3m and AB = DE = 5 cm and BC = 7 cm. What is
the area ABDE : area BDE : area BCD equal
3m to?
E 5 cm D
(a) 6+ -4 NG
4
A 5cm B 7 cm C
® 5+543
(@) 10:5:7
(c) '9+%JE (b) 8:4:7
(c) 2:1:2
@ 7+242 (d 8:4:5
BLS-S-FDE (26-A)



89. ABCD U ma ¢ | fashel AC it BD woh-gat

H O W HA & | IR AB = 32 em 3K
AD =24 em &, A1 OD forees =T & 2
(a) 22cm
(b) 20cm
(¢) 18 cm
(d) 16cm
90. TH @d (Fies) = 9r &= # fwnfoa R mn
B, 31 6 @ 7§ el W wtw ww R | /4
(Freg) 1 &apet o) Hiex § foraem & 2
2m 2m
L]
1m
oS
o 2m
3m
3m
3m 5
(a) 6+§«/§
® 5+33
‘(c) 9+72-JE'
@@ 7+242
BLS-S-FDE

91. ﬁ-aﬁm@%ﬁ,m?ﬁwmn%l
BHRT I 6T SATH 4T R 2

(@ D(V2-1)

() D(2+1)

(¢ D(2+2)

(d DE@-J2)

92. = § 7% ampfa #, AC 3R ED wuw £, ik
AB=DE=5cm T BC=7cm 32 |

&% ABDE : &9%« BDE : &9%& BCD
oo sqat & 2

E 5 cm - D
A 5 cm B 7 em C
(a) 10:5:7
(b) 8:4:7
() 2:1:2
d 8:4:5

(27<Aj)



93.

94.

BLS-S-FDE

In the figure given below, PQRS is a
parallelogram. PA bisects angle P and SA
bisects angle S. What is angle PAS equal to ?

P Q

(a) 60°
(b)
() 90°

(d)

75°

100°

In the figure given below, ZA = 80° and
# ABC = 60°. BD and CD bisect angles B and
C respectively. What are the values of x and y
respectively ?

A

(a) 10and 130

(b). 10 and 125
(¢) 20and 130

(d) 20and 125

(28—-A)

95.

96.

In the figure given below, PQR is a
non-isosceles right-angled triangle, right
angled at Q. If LM and QT are parallel and

QT = PT, then what is £ RLM equal to ?

P
i k
M
Q L R
(a) ZPQT
(b) ZLRM
(¢) ZRML
(d) <ZQPT

In the figure given below, PQ is parallel to RS
and PR is parallel to QS. If £ LPR = 35° and

"~ £ UST = 70°, then what is £ MPQ equal to ?

(a) 55°
(b) 70°
(¢ 175°
(d 80°



93. = & T Hfi #, PQRS TH wHRH =G| 95. Hre § 7 afa #, PQR U fawmfgsrg wmenior
8 | PA IV P! qUT SA I S =l fewifm s 2, R @i Q wmeeior @ | 3l LM ik

HTdl 8 | BT PAS fopges SR R ? QT THT<R & @ QT = PT 8, df ~ RLM frash
TR 2 7
P | Q 3
f MA / r .
M
S R
Q L R
(@) €0 (a) ZPQT
b 75° (b) ZLRM
(¢) 90° (¢) ZRML
(d 100° Wl ZRFL

| 96. 1= 4 78 amefa #, PQ 3N RS wu= § qur
94, ¥ & T oamphr H, LA =800 oK PR QS @ARR & | 4 £ LPR = 35° 3k

ZABC=60°% | BD 3R CD SHH: I B 31K £ UST=70°%, &t £ MPQ fohareh st @ 2
Hr ¢ &l foufoa et € | x ot vy & Om
SHUST: T & 2

A

B C

(a) 1031 130

(b) 103 125 (a) 55°

(¢) 2037 130 (b)) w
(¢ 175°

d) 203K

O 1% d 80°

BLS-S-FDE | (29-A)



97. In the figure given below, ABC is a triangle
with AB = BC and D is an interior point of the
triangle ABC such that £~ DAC = £ DCA.

B

D

A C
Consider the following statements :
1. Triangle ADC is an isosceles triangle.
2. D is the centroid of the triangle ABC.
3. Triangle ABD is congruent to the
triangle CBD.

Which of the above statements are correct ?
(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3

98. In the figure given below, M is fhe
mid-point of AB and £ DAB = £ CBA and
Z AMC = Z BMD. Then the triangle ADM is
congruent to the triangle BCM by

C D
A M B
(a) SASrule
(b) SSSrule
(¢) ASArule
(d) AAArule
BLS-S-FDE
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ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

1 Triangles ADX and BAY are congruent.
2. £ DXA = £ AYB.

3. DXis inclined at an angle 60° with AY.

4. DXis not perpendicular to AY.

Which of the above statements are correct ?

(a) 2,3and4only
(b) 1,2and4 only
(¢) 1,3 and4 only
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
two consecutive kilometre-stones on the
opposite sides of the aeroplane are observed to
be o and B. The height of the aeroplane above

the road is

tan o + tan B

(=) tan o tan p
b) tan o tan
tan o +tanp
e cot o cot B
cot o +cot B
( d)l cot o + cot B
cot o cot B



97. = § ™ erfy #, ABC v fyw ¥ R

98.
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AB = BC ® @1 iy ABC # ©& Tt forg
D,39 YR 8 7% ~ DAC=~/DCAR |

B

LN\,

FrafaRaa wemi w femm FHifde .

1. B ADC v wwfgemg fiys 2 |

2. By ABCH FcH DR |

3. Tyt ABD 3R iy ¢BD watmam § |
o woHl § @ BHE TR E 2

(a) had 137 2

(b) hae 230K 3

(¢) had 13 3

@ 1,2 3M3

9 & ¥ ampfa #, AB W1 wenfamg MR @
ZDAB =/ CBAR 3 ~ AMC = ~BMD & |
a9 fys ADM 3ft fiye BoM fvm fem &
Hatmaq § ?

‘ C D

NN

A M B

SAS e
sss frem
ASA fsm
AAA fram

(a)
(b)
(c)
&)

99-
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ABCD T% & 8 | AB %1 Hea-fog X 8 @1 BC
% Hefog YR |

Frafafaa wumt w famm Hifve
1. TYS ADX R BAY wafmam # |
2. £DXA=/AYB.

3.  AY % ¥ DX, 60° % hIv YT 37T § |
4. AYWR DX 78 & |

U B W B R 2

+ad 2,3 37 4
Fad 1,23 4
Had 1,3 AR 4
Had 137 2

(a)
(b)
(c)

(d)

wh Wt Ao Tew & St W T g6
SR ¥, §F AT fherfier & geerl, St gaTs
e & faudia fewmedt 4 €, & s/@amT #ivr o
3N p Yfera fopm T § | Tewh o HW FATE ET™
F FaE TR ?

tana + tan
tan o tan B

(a)

tan o tan
tana +tan B

cot o cot B

i cot o + cot B

cot o + cot B
cot o cot 3

(d)
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SPACE FOR ROUGH WORK
HA HIH & 10 Tg
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&= & & foru swre
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T 7 ATIH T TV GIaHT Wierd &t 7 FHgl AT 77 7% T @iet

A4 : BLS-S-FDE wfreroT gigesT ST

T 70T Y ecTeht
TRITreR T

&ag : g g gorfes : 100

10.

SRR

qﬁmmﬁﬁ%wm,mwuﬁwg@mﬁmmmﬁ%gﬁﬁﬁmw,

mmwgwwamﬂm,aﬁqalﬁ@%,ﬁ@aﬁﬁwgﬁmﬁmﬁﬁm

Fua e & 5 OMR swR-uses #, SRm T w, et At AR ol g (¥t

#1E) A, B, C a1 D &I, o4 & vd a1 et w6 o o o o 3iR speag % =l Rowrardt

sefiear it § | et off s Y < /Rty < fedrfa o swousres T @ foen s |

T e gt o ar § fiu e e | et A

s fora & 1wl gferm w ot g T fod |

=0 e g § 100 S (W99) R e ¥ |y v R sik ofift I A oW B | ST

SeiE T SR SR (S) U E | o A U g B9 o, F S Swieas W sAha H

H@%lﬁwﬁ@ﬁ%@ﬁmmwé,ﬁwmﬁﬁ%ﬁﬁmm

AW | TS T % T @heer Uk g7 Wegal g B |

ST 7 T Wege o ¥ R Y IR W F 3ifhd F ¥ | v # fiw e fidw e |

T I 6 3T GEE ¢ |

= TR o ST SET Qi % Tafie SRATT 3 TegeR ST T 3ifhd HT TE HL, AT T

YOO 3 T ARG ST % IAR $S e ST H A g |

9 Y i S ITREE § AW ¥ 9 qoT TE % WE R a7 Jo-GAe e H

g ¥ | 79! 3T | e e o S it STAN B |

F= S % Y e wlier I 5 37d 7 G § |

IeTd ITI o ToAQ qUS :

s weE-uEt 3 sefear g g e e i % forg que o s |

G W T ¥ R w9 dfeus I § | Seficar g vae W % fore Ru e uw e I % fore sRA
g Frra fru o el 1 wen-foeTd (0.33) 2Ue % &9 H e W@ |

(i) @ B8 Iefiean us ¥ i I 3T B, 9 3 Terd I WA e, Fufy Gy e S 4 ¥ uh W
T Brar B, e oft 39 v F fore sudegen @ S ai w1 evs e sam |

Gii) f Irfiear g HE W e € R S ¥, ot IR g S A feu S 8, f 39 ¥ %
fore =1 que =i faar o |

S qF HTTHT Tg T GieaasT @iord &1 T Hgl AT 7 7k 7 Giet

Note : English version of the instructions is printed on the front cover of this Booklet.
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